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Honors Geometry Name: ;‘<~Q Y
Unit 4 Review v

1. If a quadrilateral has both pairs of opposite sides parallel, then it must be a

(A) trapezoid

(B) square
arallelogram

M)AandC

(E)Band C

2. The quadrilateral below is most specifically a

A) rhombus
ectangle

(C) kite

(D) parallelogram

(E) trapezoid

3. What are all the possible name(s) of the quadrilateral below?
1. rectangle
II. square
IHi. rhombus
IV. parallelogram

(A) Land II ,:,
(B) 1 III, and IV
(C) I and IV

IV only
@ I, 11, 111, and IV

4. What is the most precise name for a quadrilateral with
vertices (4, 2), (4, -5), (-3, 2) and (-3, -5)?
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5. Three coordinate points of a parallelogram are N 5
(2, 1), (4, 4), and (7, 4). Find the fourth vertex.

[FRIE-

(5,1 Hh

b
0
T
6. What is the value of the variable in parallelogram ABCD?
o A B
(A) y=4 <hyec =KO w-127 o
B} y=12 i{xj % 0 PO <5, =
) =13 —q o =GO
) y=38 4y =12 = 40 140° SS T <s
(E) y=140 D C \
19 =32 . Codd to ) £O)
, v ‘> =13
7. What is the length of PM ?
L 65 M
b
g) 31 P
(©)44 | 22" 31
(D) 62
(E) 65 N 0
8. What value of y makes the quadrilateral a parallelogram?
(Ayy=1 étj+ (7=79 6y+17 23
‘ =2
- - !7
% y=12233 el K,
(D)y=23 Ty =
E)y=29
9. Inrectangle ABCD, AB = x + 25 and CD = 6x. Find the value of x.
(A)1
(B) 4.2 | A2y L5 = bx
5 A - B K - %
- ¥
(DY 6 T
(F) 22.1 A
o C = ¥

bx




10. KLMN is a rectangle. Find the value of x. N 450

 rectangle M
=~ | j\ w, C

@ =35 RH-30 =40 ’s

(C)x=75 _

(D) x = 155 K =60 (@ +30)° v
(E) x = 450 L

11. WXYZ is a rhombus. What is the value of x7

() 4
s M3 = e §
o T
(E) 90
3x—13 =% (4X+N//
ALY 4173
H—

12. Which is sufficient {o prove that a quadrilateral is a rhombus?

(A) The diagonals bisect each other.

(B) The diagonals are perpendicular.

(C) A pair of opposite sides is congruent and parallel.
All four sides are congruent.
None of the above

13. In kite KLMN, find the value of m.

(A) -1 M+ = 3m-22
15 —a —m
&
(D) 41.8 Q = ZW\_,L‘L
(E) 48.5 L S _—
K= —’Lw\
e y = ™

14. Yind the mZ1 and m£2 in the quadrilateral below.

(A) £1=90°, /2 =25°

Z1=90°, /2 = 56°
©) £1=56°, £2=90°
(D) £1=25° /2 =56°
(E) £1=56°, /2=34°

25°

340




IS s ane. soppr Cadd teo (10°)
15. What value of x would make quadrilateral ABCD a trapezoid?

Eﬁ) 0 LA#LB (50 A “ 5
44 I A I ~-4o = (8O
D) 60 Sx ~~o =(gP°
(E) 80 S¢ = 20 B (3x —40)°
C
16. In the jsosceles trapezoid ABCD, find m/B.
A) )58° A > D
(B) 61° 122°
(C) 90° _ | go—? qu
(D) 122° St 7 = 5% |
(E) 180° B P C !
17. The diagonals of a square must . 3 = L& I
(A) bisect each other ;

(B) be perpendicular

(C) be congruent

Aand B ;l
(E)A, B, C f
p &

I

I

Target 6C: Know and utilize the methods for proving that a quadrilateral is a
parallelogram

18. Opposite sides of a parallelogram must
(A) bisect each other
(B) be paraliel |
(C) be congruent _
D) bisect the angles of the parallelogram
@B and C

19. ABCDisa paralleiogram because
A) both pairs of opposite sides are parallel A B ;

@J)ae diagonals bisect each other
(C) both pairs of opposite sides are congruent '
(D) both pairs of opposite angles are congruent
(E) one pair of opposite sides is congruent and parallel D
C

20. I'or what value of x makes the figure a parallelogram.

(A)4 3x+ 8

@0 Tx+ 3 =27 |

D)29 —-& — ¥ 20 20

(E)47.7 - S
=12\

29




21. Give the most descriptive name for each quadrilateral. Justify your answer.

i
a) b) R Tgos. Trepeyord:
EQ_L'{%L_V\GJ)'Q\] r’ d f_-_“'h:.— l"e_3g
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22,  Given: QUAD is a parallelogram

Prove: opposite sides are congruent

Sl lements [leasons
@ QUAD [ @ 6}“&:«

@ QU DA @ [ = botn peir 6'{: epp e S i )
&p W VA

@B 22¥sy 1B | lwes = Al ink s =
L EF LD

@m?@ @ ﬁé’glﬁ.\écwe ?Po?ﬁui—b
(5 AQUAZang & ASA

@EPEAD | (@ CPaTC
QU =AD

23. Know how to prove the following methods for parallelograms:

2 If both pairs of opposite sides of a quadrilateral are congruent,
then the quadrilateral is a parallelogram (converse of a property).

3 If one pair of opposite sides of a quadrilateral are both parallel
and congruent, then the quadrilateral is a parallelogram.

4 1f the diagonals of a quadrilateral bisect each other, then the
guadrilateral is a parallelogram (converse of a property).

Note: The proof of method 2 and 3 was done in our notes (posted on the website). The proof
of method 4 was done as a warm up.,




24, A and B are equidistant from C and D. ZC=8m—-30, ZD=3m+ 40, AC=4m -2 and
DB =9m + 1. What is the perimeter of ACBD?

CABR itk = 2= 2p

¢ gm—“ﬁSO = 3mtYyO

O
— 3 m —3m

Sm-3p =kO
+30 3o

D qv‘n'i-l

515’:”_2‘2 AL= 4(9~2 =5 2o ADTSY
S o
DB =AW+ = 127 A CBTIET
m =% - 362
Pe e by =StEsy £ AT =

25. Given: QUzAD Q \ U
¢ W=3y+7
AD=4y-3 37
UA=2y+10 ‘I
QD =37 D A

Is QUAD a rhombus? Justify your answer.

3yt0 =ty 3 MOu= 3y +7 = 37
-3 =3y AD = 4lw)—-3= 37
p) i UA = 72(w0) +10= 30
7=9-3 A
3 O Qv = 3
© :3 (90@ QUA"D s &__QFI_ oo rkombu_g‘

~—
beCMb{_ not ol cvdes o —

26. Review the polygonal notes: translations, reflections, rotations, mapping a quad onto itself,
estimating an angle of rotation, steps involved in determining the line of symmetry, etc.




